2RXS J180351.6-242116

gamm*powl

932146 0165

:I I TN TN ITITNE |:
f? < wn
= S =
(A93 s zwd)/suojoyd
T T T 1 [TTTT T T 1 [TTTTT 7]
|
u | | -
:|| L1 IR |||||||:

-l
|
o

L |

(A®¥ s)/syuno)

T
o

-

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

o - [op)
o o (@]
B oW
=]
n [Te] n
+ &
@© — (op]
| | |
+ + +
o
— (2] o (= [ap]
(@] o (@] + (@]
| | + e3] |
[ =1 [ © [
© ¥ o w W
(aY] [sp] wn | n
Il
Q
® I
S ]
) Il g
(7] ; Il S
[ V. I o
wn = z — Z
TTTTTTTTTT T TITT[TTTT]
—H—
_
p——
o T—
- _+_ —
C —HH— ]
«dARRRRINNRRARRRNANEEN
a —- o - O

s[enpisay

1.00

0.10

X%req = 0.447

Energy/keV



